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Trinomials 2 - Factoring

ex1) 2x°+5x+ 3 (N()= 6

(Qx&+;29+\éx+ 3} /\
AX (K 1)+ 3 (% + 1)

(XAV\\(&X*%»

ex2) B6Xx°-x-2

step 1: Multiply first and last number (Y(=2)= =19
Find the factors of -12 that add up to -1 4/ \%

step 2: rewrite middle term using the 2 factors

BX° -\X - 2

; \
6X° + 3X - 4x -2

step 3: greatest common factor two times

2y <6x +3x> - (4x - 3

ERSELS common factor common factor
3x(2x +1) - 2(2x + 1)
common common

factor again ™~ ‘\factor again

=(2x+ 1) (3x-2)



ex3) 8x°+ 10x+3 () (3) ~ Q4
(3Xg+(o‘>§+?4rx #—% %
2 X (4x+3) 1 | (4x+2)
(4 x+3) (2 )

ex 4) 4x°-9x -9 AN\ = -3 6
G120 + (Bx—=9) e /N

Ay (% -3 +3(x=3) o
CX=)(Gxr3)

ex5) 9x*+3x-2 (A(-a)=-18
— v

@XQ~3§+@X—&> te =3
3X(3x—1)+ 2(3x-1)

(3x= 1N (3x+2)
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